Math 1300  Section 2.3
Section 2.3: Slope and Interceptsof aLine

Definition: Theslope of a line measures the steepness of a line omatieeof change of the line.
To find the slope of a line you need two pointsuYan find the slope of a line between two points

(x1,y1) and(x,, y,)by using this formula.
2 — Y1 Tise

slope (m) = Y
xz - xl run

The Different Typesof dope

* Lines with positive slope rise to the right.

Lines with negative slope fall to the right.

Lines with slope equal to O are horizontal lines.

Lines with undefined slope are vertical lines

Example 1: Find the slope of the line containing the follogipoints

a. (4,-3)and (-2,1)

b. (—3,1)and (-3,—-2)
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Thex-coordinate of the point where a line intersecesxthxis is called the-intercept. It is found by
settingy = 0 in the equation of the line and solving %or

They-coordinate of the point where a line intersecésythxis is called thg-inter cept. It is found by
settingx = 0 in the equation of the line and solving yor

Example 2: Find the x - and y - intercepts of the followinguations.

a. 7x+2y=14

The term intercept also refers to the POINT at Whiee graph of the line crosses either the x-axtb®
y-axis. Sometimes, the question will ask you taeviine y-intercept or y-intercept “as a coordinate
point” or “in coordinate point form”. To answer $hjuestion, the procedure is

X- intercept as a coordinate point —
1. Find the x-intercept by setting y = 0 and saivihe equation for x.
2. Write the point as (x-intercept, 0)

y-intercept as a coordinate point —
1. Find the y-intercept by setting x = 0 and sajvihe equation for y.
2. Write the point as (0, y-intercept)

Example 3: Find the x- and y- intercepts of the liBe — 2y = 18 and express the intercepts in
coordinate point form.
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Example 4: Find the x- and y- intercepts of the liRg = 14 and express the intercepts in coordinate
point form.

Example 5: Find the x- and y- intercepts of the lime= —5 and express the intercepts in coordinate
point form

Example 6: Find the x- and y- intercepts of the lir8x = 15 and express the intercepts in coordinate
point form



